MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA

COUNTY METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1107
PRODUCT CONTROL DIVISION MIAML FLORIDA 33130-1563

(305) 375-2902  FAX (305) 372-6339
NOTICE OF ACCEPTANCE (N 0A) www.miamidade.gov/buildingcode

Hartman Windows & Doors, LLC
531 Southern Blvd.
West Palm Beach, FL 33405

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami-Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami-Dade County) and/or the AHJ (in areas other than Miami-Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series Wood Double Hung Window — L.ML.L.

APPROVAL DOCUMENT: Drawing No. 04-HWD-0002, titled “Double Hung Window — Large Missile
Impact Resistant”, sheets 1 through 8, dated 11/08/04, with revision dated 08/21/09, prepared by Engineering
Express, signed and sealed by Frank L. Bennardo, P. E., bearing the Miami-Dade County Product Control
Revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami—Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises and renews NOA No. 04—1129.03 and consists of this page 1 and evidence pages E-1,

and E-2, as well as approval document mentioned above.

The submitted documentation was reviewed by Jaime D. Gascon, P. E.

- s NOA No. 09-0608.13
M'AM"UNTY a ”\\OO\ Expiration Date: April 07, 2015
' Approval Date: September 30, 2009

Page 1



Hartman Windows & Doors, LL.C

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1.
2.

Manufacturer's die drawings and sections.

Drawing No 04-HWD-0002, titled “Double Hung Window — Large Missile Impact
Resistant”, sheets 1 through 10, dated 11/08/04, with revision dated 08/21/09,
prepared by Engineering Express, signed and sealed by Frank L. Bennardo, P. E.

B. TESTS

1.

Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 3603.2 (b) and TAS 202-94
along with marked—up drawings and installation diagram of wood double hung
window, X/X configuration, prepared by Hurricane Test Laboratory, LLC, Test
Report No. HTL-0137-1028-02, dated 10/17 to 21/02, signed and sealed by Vinu J.
Abraham, P. E.
(Submitted under previous NOA No. 04—1129.03 )
Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked—up drawings and installation diagram of two wood double hung
windows mulled together, X/X-X/X configuration, and two single windows, X/X
configuration, prepared by Hurricane Test Laboratory, LLC, Test Report No.
HTL-0137-0114-04, dated 1/28-29/04, signed and sealed by Vinu J. Abraham, P. E.
(Submitted under previous NOA No. 04—1129.03 )

C. CALCULATIONS

1.

Anchor verification calculations and structural analysis, complying with FBC-2007,
dated 07/22/09 prepared by Engineering Express, signed, sealed and dated 08/21/09 by
Frank L. Bennardo, P.E.

Complies with ASTM E1300-02/ 04

D. QUALITY ASSURANCE

1.

Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS

1.

Notice of Acceptance No. 06-0216.06 issued to Solutia Inc. for their “Saflex IIIG
Clear or colored interlayer” dated May 04, 2006, expiring on May 21, 2011.

Q/‘
_
/4

Jaime D. Gasconp, P.E.

Product Control Examiner

NOA No. 09-0608.13

Expiration Date: April 07, 2015
Approval Date: September 30, 2009



Hartman Windows & Doors, LL.C

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS (CONTINUED)
2. Notice of Acceptance No. 07-1116.11 issued to SAF-GLASS for their “SAF-GLAS

Polycarbonate Laminate” dated December 12, 2007, expiring on December 16,
2012.

3. Notice of Acceptance No. 09-0312.03 issued to E.I. DuPont DeNemours & Co., Inc.
for their “DuPont Sentry Glass® Interlayer” dated 05/13/09, expiring on 01/14/12.

F. STATEMENTS :
1. Statement letter of conformance, dated September 08, 2009, signed and sealed by
Frank L. Bennardo, P. E.

2. Statement letter of no financial interest, dated September 08, 2009, signed and sealed
by Frank L. Bennardo, P. E.

G. OTHERS
1. Notice of Acceptance No. 04-1129.03, issued to Hartman Windows & Doors, LLC for
their Series “Wood Double Hung Window — Impact”, approved on 04/07/05 and
expiring on 04/07/10.

vV Jaime D. Gascﬁn, P.E.
Product Control Examiner

NOA No. 09-0608.13

Expiration Date: April 07, 2015
Approval Date: September 30, 2009



F:\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Doubie-Hung Window (NOA)\04-HWD-0002_06b Double-Hung Window {NOA).dwg

rbartiett

09/04/2009 - 10:26am

D

OUBLE

HUNG WINDOW

Typical Interior Glazed

Typical Exterior Glazed

<« (3) #10 SMS (3/4” MIN. THREAD PENETRATION INTO
MAHOGANY WINDOW) AND (2) #12 SMS (1—1/2" MIN.
THREAD PENETRATION INTO 2x SOUTHERN PINE BUCK)

ANCHOR NOTES:

1) ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH
MANUFACTURER'S RECOMMENDATIONS, WITH 3/4” MIN. EDGE
DISTANCE.

2) ALL UNITS SHALL BE ANCHORED TO EXISTING 2x WOOD
BUCK OR DIRECTLY TO 2x MIN WOOD HOST STRUCTURE WITH
STEEL STRAPS SPACED AS FOLLOWS:

— AT HEAD: 3” FROM EACH UNIT CORNER & 8" 0.C.
— AT JAMBS: 4" FROM EACH UNIT CORNER & 12" O.C.
— AT SILL: NO ANCHORS REQUIRED

3) STRAPS SHALL BE 1/16" x 1—1/4" (MIN), ASTM A653
STRUCTURAL QUALITY GRADE 33 (MIN) STEEL WITH MIN Fu=45ksi.

4) EACH STRAP SHALL BE FASTENED TO THE MAHOGANY
WINDOW FRAME WITH (3) #10 SMS (3/4” MIN EMBED) AND TO
THE 2x SOUTHERN PINE BUCK WITH (2) #12 SMS (1—1/2" MIN
EMBED), AS SHOWN HEREIN. SEE GENERAL NOTE No. 5.

5) ALL SHEET METAL AND/OR WOOD SCREWS SHALL BE SAE
GRADE 5 STEEL OR EQUIVALENT.

GLAZING OPTIONS:

(® 7/16" "Sentry Glass Plus” by E.l. Dupont
(NOA #09-0312.03);
— 3/16" ANNEALED GLASS
—~ 0.090” DuPont SENTRYGLASS PLUS INTERLAYER
— 3/16" ANNEALED GLASS

7/16" "SAFLEX” by Solutia (NOA #06-0216.06):
— 3/16" HEAT STRENGTHENED GLASS
— 0.090" SAFLEX PVB INTERLAYER
~ 3/16" HEAT STRENGTHENED GLASS

© 7/16” "Security Implact Glass” by SAFGLASS
(NOA #07—-1118.11):
— 3/16” ANNEALED OR HEAT STRENGTHENED GLASS
- 0.015" URETHANE ADHESIVE
0.070” POLYCARBONATE "S.l.G" INTERLAYER
0.015” URETHANE ADHESIVE
3/16" ANNEALED OR HEAT STRENGTHENED GLASS

¢  "Chain & Weights” Unit "Chain & Weights” Unit
T 8" MAX. 3 8" MAX.
TYP, TYP TYP. TYP
| \ 4 Yy VY VY Y | 4 Y VYV Y VY
—’—P —}—P
o
b
| 4 - > .
VR -
A JZA)
> % < (2) ANCHOR > \&/ <
L CLUSTERS AT
MIDRAIL
» 4 n
5 427 = . 427 =
%5 %o
> S < 23
% : /A o
1 » - v T <
gk =g
(BN ™
S Y, / < - 1—> @ /// <
P « : > @ <
M e}
. Yl
> ! ™ B
~] .~
(NO ANCHORS REQUIRED AT SILL A (NO ANCHORS REQUIRED AT SILL
e, FOR SINGLE WINDOW ONLY) g_)u é‘lt\lj-%-sloiT 5 FOR SINGLE WINDOW ONLY)
OPENING IM BOTTOM OF JAMB OPENING DIM
ANCHORS LEGEND

ALLOWABLE DESIGN
PRESSURES:

+60 PSF
—60 PSF

GENERAL NOTES:

1) THE SYSTEM DESCRIBED HEREIN HAS BEEN DESIGNED AND TESTED
IN ACCORDANCE WITH THE 2007 FLORIDA BUILDING CODE PER TAS
PROTOCOLS 201, 201, & 203.

2) ALL UNITS ARE LARGE MISSILE IMPACT RESISTANT.

NO

PROTECTION FROM WINDBORNE DEBRIS IS REQUIRED FOR ANY
INSTALLATION.
3) POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE
WITH THIS SYSTEM SHALL BE DETERMINED BY OTHERS ON A
JOB—SPECIFIC BASIS IN ACCORDANCE WITH THE GOVERNING CODE.

4) ALL WOOD PARTS SHALL BE SOUTHERN PINE/ MAHOGANY WITH
THE MINIMUM SPECIFIC GRAVITY OF G=0.55 OR ANY NATURALLY DURABLE
WOOD WITH THE MINIMUM GRADE 2 AND WITH A SPECIFIC GRAVITY OF G
= 0.55 AND MIN DOWEL BEARING STRENGTH Fe=5450psi.

5) ALL EXPOSED WOOD SHALL BE TREATED WITH EITHER SICKENS®
CETOL—1 BASECOAT AND CETOL—23 TOPCOAT (FOR STAINED.FINISHES) OR
SHERWIN WILLIAMS® DURATION EXTERIOR ACRYLIC LATEX (FOR PAINTED

FINISHES).

6) THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT

PROVIDE INFORMATION FOR A SPECIFIC SITE.

FOR SITE CONDITIONS

DIFFERENT FROM THE CONDITIONS DETAILED HEREIN, A LICENSED
ENGINEER OR REGISTERED ARCHITECT SHALL PREPARE SITE—SPECIFIC
DOCUMENTS AND SUBMIT FOR A ONE—TIME NOTICE OF ACCEPTANCE FOR

USE IN CONJUNCTION WITH THIS DOCUMENT.

7) _PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING

STRUCTURE TO WITHSTAND SUPERIMPOSED LOADS.

ALL 2x WOOD BUCKS

SHALL BE ANCHORED TO THE HOST STRUCTURE TO ADEQUATELY

TRANSFER

(INTER GLAZED OPTION SHOWN. FOR EXTER OPTION,
REVERSE "INTERIOR"™ & "EXTERIOR” DESIGNATION)

ALL SUPERIMPOSED LOADS.

%s” GLAZING PER
GLAZING OPTIONS_l I—

Ke" X %" NORTON EXTER.I
HPF 970 GLAZING
BEAD (INT & EXT) __

GLASS TOP

=

SILICONE SEALANT
(DOW CORNING 995)

v

GLAZING DETAIL:

PRODUCT REVISED

as compiying with the Flovida
Building Code
Acceptange Mo O
Expiratisp Datc

Division

# PEQ046549

FRANK L. BENNARDO, P.E. "\

7 ENGINEERING | ©
A EXPRESS®
160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

PH: (954) 354-0660 FAX: (954) 354-0443

CERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

WWW.ENGEXP.COM

& DOORS, LLC
531 SOUTHERN BLVD
WEST PALM BEACH, FL 33405

HARTMAN WINDOWS

DOUBLE HUNG WINDOW
LARGE MISSILE IMPACT RESISTANT

11/8/04
6/16/05
05/28/09
08/21/09

FLB

DRWN|CHKD | DATE
FLB
FLB

CL
CL
AML [RKB

TSB

REMARKS
NIT ISSUE
COUNTY COMMENTS

2004 FBC
2007 FBC

THiS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P E AND SHALL NOT BE

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.

BENNARDO,
TO THIS

IENT ARE NOT FIERMHT

COPYRIGHT FRANK L. BENNARDO P.E,

04-HWD-000

SCALE:

PAGE DESCRIPTION:

i

90

.




F:\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Double-Hung Window (NOA\04-HWD-0002_06b Double-Hung Window (NOA).dwg

rbartlett

09/04/2009 - 10:26am

DOUBLE HUNG WINDOW

(SIDE-BY—SIDE INSTALLATIONS)

Installed Side—By—Side

NOTE:

TWO (2) "CHAIN & WEIGHTS" UNITS MAY BE
INSTALLED SIDE—BY—SIDE WITH NO SEPARATE
MULLIONS OR ADDITIONAL REINFORCEMENT

wmwm (5) #12 SMS (1-1/2" MIN. THREAD
PENETRATION INTO MAHOGANY WINDOW)

<« (3) #10 SMS (3/4" MIN. THREAD PENETRATION
INTO MAHOGANY WINDOW) AND (2) #12 SMS
(1-1/2" MIN. THREAD PENETRATION INTO 2x

SOUTHERN PINE BUCK)

<] (2) #10 SMS (3/4" MIN. THREAD PENETRATION
INTO MAHOGANY WINDOW) AND (1) #12 SMS
(1-1/2" MIN. THREAD PENETRATION INTO 2x

SOUTHERN PINE BUCK)

59" MAX
(2) ANCHOR VENT WIDTH
59" MAX CLUSTERS AT
VENT WIDTH TOP OF MULLION B"TYMPAX. 574" DLO
: O o : R )
AE= 574" bLO 2" = 3 & 8" MAX. 3"
% 1 TYP. TYP. 1 l' T T
Y V.V VY V'Y \ A A B / \ 4 Y v Y 4
> T <t l +—> T '
. ! ;
X . — ' X '
> sQo = | =~ =0 > —
o EANLT |lye 1eg |3 D PR
] o= = - cas £°
] S 355 &+ , 388 g
—P —— /T < 0,8 x o l\‘ - a E x5
A \Z/ (2) ANCHOR RES IF A p NET ZF
N / — |/ ——CLUSTERS AT / < 0. & \&/ N D &
- % ~ - Q
— // 1 / MIDRAIL // | hie] % —P» opp. < \ sk %
[ [
1 » - |k 1—» Es x
T < ¥ (2) ANCHOR g > (7 (2) ANCHOR 3
‘ /// S L /// CLUSTERS AT s, @ CLUSTERS AT =,
o n MIGRAIL S " MIDRAIL o
g -+ > I I~y i
5
@ T 1% — % ol TN
B & »
. opp. .
7| + & i 3. @ 3
. > < =¥ . > < =5
L] :r) — 'l‘_J M EK\J
it SN D = 4D
(7) ANCHOR \ \_ 2) ANCHOR (NO ANCHORS|REQUIRED AT SILL) 2) ANCHOR
s CLUSTERS AT—}Y (2) ANCHOR E:L)USTERS AT . o \—E:L)USTERS AT
2
A= BOTTOM OF MULLION Typ CLUSTERS AT BOTTOM OF JAMB = . . BOTTOM OF JAMB
BOTTOM OF JAMBS Typical Exterior Glazed
"Spring & Balance” Unit
Typical Interior CGlazed
"Choin & Weights" Units ANCHORS LEGEND

PRODUCT REVISED

as complying with the Flosida
Building Code
Accepiance No ©9Q —
Expiration Date

Division

FRANK L. BENNARDO, P.E.
# PE0046549

GERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

160 SW 12th AVENUE, #106

DEERFIELD BEACH, FL 33442

PH: (954) 354-0660 FAX: (954) 354-0443
WWW.ENGEXP.COM

= 2
wn
al E
$lz
L
7 daz|z«
Hm"zfgb
= <
Bpﬁmul.‘)n_
Iglz=
Z QEa|2 5
QCo=s|yn4
QAL g|ga
H@RL|eE
Wl w
E | ¢
3

11/8/04
6/16/05
05/28/09
08/21/09

FLB
RKB

DRWN|CHKD | DATE
FLB
FLB

=

5

HE

H

mig] B

el

2

g

® 2 &

< @m|alE| B

=255 B
FHEESE R —
COPYRIGHT FRANK L. BENNARDO P.E.
04-HWD-0002

SCALE: ] --

PAGE DESCRIPTION:

a2,
S

S0

2

J




F\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Double-Hung Window (NOA)\04-HWD-0002_06b Double-Hung Window (NOA).dwg

rbartlett

09/04/2009 - 10:26am

(2) ANCHOR

DOUBLE HUNG WINDOW
(SIDE-BY-SIDE INSTALLATIONS)

"Spring & Balance” Units
Installed Side—By—Side

NOTE:

TWO (2) "SPRING & BALANCE” UNITS MAY BE
INSTALLED SIDE—BY-SIDE WITH NO SEPARATE
MULLIONS OR ADDITIONAL REINFORCEMENT

59" MAX CLUSTERS AT
VENT WIDTH TOP OF MULLION 8" MAX.
TYP.
574" DLO i 3
Y Y VY VY ( \ A Y |v
> T
%, l ]
= o a : ~
“ JZA o] % g Z s
> D ~ <« 3B o
Iz & (2) ANCHOR LED 2R
\&/ CLUSTERS AT YT 2
> MIDRAIL < o F _
| :
L
— A== ATl ‘ ;
T \\3&(2) ANCHOR 3
. A @ CLUSTERS AT .
[} M MIDRAIL 2
> < 2
/N /A
(2N § &/
> N\ % <
. © |k
™ o
i | /] _H
— - 49
(7) ANCHOR_}A\AAAAAA ¥ (2) ANCHOR
o CLUSTERS AT 2" (2) ANCHOR CLUSTERS AT
= BOTTOM OF MULLION ~ = p. CLUSTERS AT BOTTOM OF JAMB
BOTTOM OF JAMBS
Typical Exterior Glazed
ANCHORS LEGEND

m— (5) #12 SMS (1-1/2" MIN. THREAD
PENETRATION INTO MAHOGANY WINDOW)

<« (3) #10 SMS (3/4” MIN. THREAD PENETRATION
INTO MAHOGANY WINDOW) AND (2) #12 SMS
(1=1/2" MIN. THREAD PENETRATION INTO 2x
SOUTHERN PINE BUCK)

<] (2) #10 SMS (3/4” MIN. THREAD PENETRATION
INTO MAHOGANY WINDOW) AND (1) #12 SMS
(1-1/2" MIN. THREAD PENETRATION INTO 2x
SOUTHERN PINE BUCK)

PRODUCT REVISED
as comply vith the Florida
Baiiding Co

Viians Dede Procuct Control
Division

F423 No S 1. A
g D Lo
By :

FRANK L. BENNARDO, P.E.
# PE0046549

o, ?

O

GERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

¥ ENGINEERING
» EXPRESS”®

160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

WWW . ENGEXP.COM

PH: (954) 354-0660 FAX: (954) 354-0443

& DOORS, LLC
531 SOUTHERN BLVD
WEST PALM BEACH, FL 33405
DOUBLE HUNG WINDOW
LARGE MISSILE IMPACT RESISTANT

HARTMAN WINDOWS

11/8/04
6/16/05
05/28/09
08/21/09

DRWN|CHKD | DATE
FLB
FLB
FLB

ML |RKB

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.

CL
Cl
TS
Al
THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE

REMARKS
NIT ISSUE
COUNTY COMMENTS

2004 FBC
2007 FBC

COPYRIGHT FRANK L. BENNARDO P.E.

04-HWD-0002

SCALE: ] --

PAGE DESCRIPTION:

,}35 90

.




-Hung Window (NOA).dwg

-HWD-0002_06b Double:

F:\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Double-Hung Window (NOA)\04-

rbartlett

09/04/2009 - 10:26am

‘ WINDOW HEAD

1 HALF SCALE

#8x 1 1/4” S.S SCREWS
1/2" MIN. PENETRATION. 3"
FROM END AND 8" O.C.

1]
-~ ~N
R S
— 2
=] 24
= | | &
. 8
" ALL ARCHITECTURAL
RESOURCE CENTER SASH
0'6 LOCK #4217 WITH KEEPER
USE 2 ON ALL UNITS AT
QUARTER POINT
(SPECIFY FINISH).
Z 1 1/2"X18 GAUGE PNEUMATIC
FASTENER 2° FROM CORNER &
p—ri 8" 0.C. IN FJELD TYPALL GLASS STOPS.
<| | 3 \ ; WINDOW| MEETING RAIL
o il
-4 i
& .
o i
“U (]
-~ § . 2t
S
- g
=z 2
5 ™
= s
L]
m m
g T
i
= i
(=]
)| & |
= .
aE :
e a
Z 2 1/4°
- |
FHHi
Bt LSASH LFT
A 2 =
£3 ? |
N 2 A\
5 L
< 2 J
— *
U o
"1
e Iy
A~ 2 f10x 3/4"
O 5.5, SCREWS
INTO FRAME
o
STRUCTURAL WEDGE
| — OR EXISTING HOST
m STRUCTURE (NO
ANCHORS REQUIRED
B AT SILL FOR SINGLE
WINDOW)
< - e o ames
— AT CENTER APPLY
L—I-_'I > ONLY FOR DOUBLE
d HUNG WINDOW
suasrmm;s BY omgg Ml (2) wOOD BUCK.
T Il —TOP BUCK CUT ON
AP ANGLE
3 WINDOW SILL
HALF SCALE

s

4 3/4"

1 //
’ /
/
WINDOW JAMB TOP SASH
"] 4 HALF SCALE
S
SASH OPENING DIM
BRASS OR LEAD
COUNTER WEIGHTS
#Bx 1 1/4" S.S SCREWS 1/2" MIN.
: PENETRATION. 3° FROM END AND 8° O.C.
SCHLEGEL QEZ—320 SEAL TYP.
o
N [ . D.LO.
N
BRASS OR LEAD
COUNTER WEIGHTS
[ A )
GLASS BEADED IN NORTON NON—FIX
g HPF 970 1/16x 1/2" D/C AND
JLICONE SEAUANT DOW#995 TYP.
LINE OF SILL BEYOND
UNIT DIM ;
1/16" X 1 1/4" STEEL STRAP 4" / SILICONE SEALANT DOW-~985
FROM END SPACED 12" 0.C. VERTICALLY
$#12 x 2" S.S. SCREWS 1 D.L.O.
1/2" MIN. PENETRATION \/\ﬁ
BRASS OR LEAD ‘

(2) §10x 3/4° S.S. SCREWS
INTO FRAMI

—

2X BY OTHERS MUST
SUSTAIN IMPOSED LOADS

COUNTER WEIGHTS

-

i
[

i
11111
|

BRASS OR LEAD
COUNTER WEIGHTS

-

2 1/4°

SCHLEGEL QEZ—-320 SEAL TYP.

#8x 1 1/4" S.S SCREWS 1/2" MIN.
PENETRATION. 3" FROM END AND 8" O.C.

@ WINDOW JAMB BOTTOM SASH

HAT SeAE FRODUCT REVISED
as complying with the Florida
Buijiding Code
Axgept Y,

SASH OPENING mm}é%ﬂw

,. 5 A "
Missrs Bads Prodaet Control

7

Divizion

LINE OF SiLL BEYOND

5 1/2"

UNIT DIM

08, [

w(SB B B,
wlsglgel B =
g Sz %% jgggg

i =11=] gggg =
mlmim|o| [£25

5lz|z|o)g| i ==

F3 %EE?—-—

2 o= HETE =z

i a|ol= eIz =

IR Ed P Eg=—

mggi‘:‘ﬁ

P

E§;§="—

2| g2 55

g Efii=

Z E§§5=

(2] = 0 = U m——

X w 5] E@w ——

Xxoo|lo sgu_g——

<wmmt 3890 ==

DL | |Z R —

= - ~|5 §§§EE

U283 ¥k ==

- X =SIRo|.E 8 —=

b= (37 20 5] COPYRIGHT FRANK L BENNARDO PEE.

SCALE: ] --

FRANK L. BENNARDO, P.E.
# PE0046549 i

| e

CERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

160 SW 12th AVENUE, #106
WWW.ENGEXP.COM

DEERFIELD BEACH, FL 33442
PH: (954) 354-0660 FAX: (954) 354-0443

= z
n
o =

=0

891%@%&

Z —az|ge

1§ rz o 25
émuwi

<ZZ

7 QE B|5 &
O3=lty

=l Bl
Q._.a(_ gm

= oA s

SRR

=I

3

PAGE DESCRIPTION:

o
n

4




F:\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Double-Hung Window (NOA\04-HWD-0002_06b Double-Hung Window (NOA).dwg

rbartlett

09/04/2009 - 10:26am

#$12 x 2° S.S. SCREWS 1 1/2° MIN. PENETRATION ] WINDOW HEAD
HALF SCALE #12 x 2° S.S. SCREWS 1 1/2° MIN. PENETRATION )
] 3 fiox 3w ss. ‘ 43/4 ]
j EWS INTO FRAME I I/
/
-~ — P =
R p T — m .
0P z
i ON® B
£ S = Z, |23 «
- — ——
- WINDOW JAMB TOP SASH 13 # 0% 2
L '~ 4 s UJ Moz =
| OR LEAD 1] ga=0 =
O gmim WEIGHTS I.I.IUJ DL Usd
— /LU/ /—\ SASH OPENING DIM Z[u z oS o 22
. OZWwEey
[ @ P #8x 1 1/4" S.S SCREWS 1/2° MIN. <[ >gEF5e
g = > PENETRATION. 3" FROM END AND 8" 0.C. U] c82258
é B =} o W g:‘
5 é SCHLEGEL QEZ-320 SEAL TYP. %m LRSS
F 8 SOUD BRONZE o B We 2 2
C% N PULLEY WITH N [] D.LO. ALy 3 J
BRONZE CHAIN ~ R oW =
— °aE B
BRASS OR LEAD o«
— ¢‘ ALL. ARCHITECTURAL RESOURCE COUNTER WEIGHTS
< = AT
1 1/2°X18 GAUGE PNEUMATIC -
m FAST/ENR o FroM. CORNER & _/x"‘j QUARTER POINT (SPECIFY FINISH). )
O 6" 0.C. IN FIEL) TYPALL BLASS STOPS. ! @ WINDOW MEETING RAIL
i
~ § |
i ’
| = E
: f S | z
m 5 - GLASS BEADED IN NORTON NON-FIX o G
5| 2 P $10¢ 3/4°'5.5. SCREWS f HPF 970 1/16x 1/2* D/C AND Ou.glza
F— = INTO FRAME SILICONE SEAUANT DOW#o9 AasslgE
- o
' 3 2 4 LINE OF SILL BEYOND Z Hat|Z E
g G UNIT DIM § 2RI
= mEz12s
o
m Qo= w =
- GETEY
» [47]
17167 X 1 1/4" STEEL STRAP 4 SILICONE SEALANT DOW-—995 - mSloz
— FROM END SPACED 12° 0.C. VERTICALLY 3 A 1o =
Z = s w| O w
c ; $12 x 2° S5, SCREWS 1 o— é = 2
(o] X .S, T
g 3 1/2" MIN. PENETRATION D.L.O. <
D 5 2 1/4" a \/\ﬁ ——
il
Q (3) #10 x 3/4" Sls SCREWS BRASS OR LEAD
m { \ COUNTER WEIGHTS
N ) R | SASH LIFT
wi|sl8d B fz==
< 2 o) é> e
.4 & | | o|C|5|8/3 ;‘;EE ===
= i e 25 =
@) 2 | %igm )0 2258
E L olxjn|Ti|r|., éagé
8 -J SCHLEGEL QEZ-320 SEAL TYP. § B Jéggg =
~ EE—
m * ] g3g® <§r. ' é’_—f‘é%’é =
#8x 1 1/4" S.S SCREWS 1/2" MIN, i
O PENETRATION. 3" FROM END AND B" O.C. " %E%E —
— — gl iz =
e . BRASS OR LEAD Q WINDOW JAMB BOTTOM SASH i R
(@] a:jz
F=] [ Al COUNTER WEIGHTS PRODUCT REVISED Z2ololSl FIEEE=
———% INTO FRAME SUSTAIN IMPOSED LOADS [ as complyiag with the Florida HEEE =
— ) Building Cods BEEBE
R oG HoeE SASH OPENING DM Seeepience “b%‘_ . 12 [COPYRIGHT FRANK L, BENNARDO PEE.
Z OR EXISTING HOST Expisszion Da QLEONS
—| | — / STRUCTURE (NO _ -
1 ANCHORS RE(QQIRED Q{ v 04-HWD-0002
AT SILL FOR SINGLE = Ry . P ] --
WINDGH) Miami Nhds Froduct Control O DESCRIPTION:
CLUSTER OF STRAPS Division
oMLy POR DOUBLE \/ )
HUNG WINDOW - LINE OF Skt BEYOND ) =
SEALANT AND (2) WoOD BUCK. 51/2 | 10
SUBSTRATE BY OTHERS fl/_ 2 |
—— — Tor Buck cuf oN UNT DM
3 WINDOW SILL
HALF SCALE #12 x 2" S.S.
L L L L L L L L [>—screws1 i/ um _J

FRANK L. BENNARDO, P. E\
# PE0046549




ung Window (NOA).dwg

EXTERIOR GLAZED UNITS WITH "SPRING & BALANCE”

F\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Double-Hung Window (NOAN04-HWD-0002_06b Double-H

08/04/2009 - 10:26am  rbartlett

‘ WINDOW HEAD

1

HALF SCALE

#8x 1 1/4"

1| 1/27

3" TOP RAIL
& STILES

1 1/2°X18 GAUI
FASTENER 2" FROM CORNER &
6" 0.C. IN FIELD TYPALL

\

\

GE PNEUMATIC

GLASS STOPS.

1/2" MIN. PENETRATION. 3"
FROM END AND 8" 0.C.

S.S SCREWS

ALL ARCHITECTURAL
RESQURCE CENTER SASH
LOCK #4217 WITH KEEPE
USE 2 ON ALL UNITS AT
QUARTER POINT
(SPECIFY FINISH).

WINDOW

MEETING RAIL

R

HALF SCALE

SASH OPENING DIM

3" MEETING RAIL

4

AR

UNIT DIM

2 1/4"

i

D.L.O.

4" BOTTOM RAIL

-

SEALANT AND
SUBSTRATE BY OTHERS

| W

7 7/8" JAMB DEPTH

S.S. CONSTANT FORCE

3" BALANCE SPRING WITH

NYLON SUPPORT FLANGE
BY JOHN EVANS SONS,INC.

(SEE DETAIL "B")

SASH OPENING DIM

WINDOW JAMB TOP SASH

4 HALF SCALE

#8 x 1 1/4" S.S SCREWS 1/2" MIN. PENETRATION.

3" FROM END AND 8" 0.C.

UNIT DIM

GLASS BEADED IN NORTON NON—FIX
# HPF 870 1/16x 1/2° D/C AND
SILICONE SEALANT DOW#995 TYP.

f LINE OF SILL BEYOND

SCHLEGEL QEZ-320 SEAL TYP.

D.L.O.

DETAIL 'B’
19/32" 13/16”
| |
©
™

o)
3/4" \

\ PLASTIC

CASE

FRANK L. BENNARDO, P.E.
# PE0046549

;a
|

3/

-SASH LIFT

\

L 2 $10x 3/4”

[-S.S. SCRI
—'%: INTO FRAME

St

3

WINDOW SILL

—~—

(i

]

HALF SCALE

(LT

——

STRUCTURAL WEDGE
OR EXISTING HOST
STRUCTURE (NO
ANCHORS REQUIRED
AT SILL FOR SINGLE
WINDOW)

HUNG WINDOW

(2) WoOD BUCK.
TOP BUCK CUT ON
ANGLE

#12 x 2° Sss.
SCREWS 1 1/2° MIN,
THREAD PENETRATION

1/16° X 1 1/4" STEEL STRAP 4"
FROM END SPACED 12" O.C. VERTICALLY

#12 x 2° S.S, SCREWS 1 1/2° MIN. PENETRATION

(2) #10 x 3/4" S.S. SCREWS INTO FRAME
N

S.S. CONSTANT FORCE
3/4° BALANCE SPRING WITH
NYLON SUPPORT FLANGE
BY JOHN EVANS SOWS,INC.

(SEE DETAIL "B")

2X BY OTHERS MUST
SUSTAIN IMPOSED LOADS

S—2

D.L.O.

EALANT DOW-995

-

i 1l
WAL/ /1] 1T] /] I

SILICONE S

2 1/4"

i

5

\_/\ SCHLEGEL QEZ~320 SEAL TYP.
:_’N—
#8x 1 1/4” S.S SCREWS 1/2" MIN.

PENETRATION. 3" FROM END AND 8" O.C.
BOTTOM SASH

WINDOW JAMB

SASH OPENING DIM

|

UNIT DIM

LINE OF SILL BEYONDE};lm o

=~

Accen

S
Dlwm Dade Produet Control

Drivision

U] z
2 |3z ¢
— ng <
Tlpgs ¢
<+
[n #imr'-gz 2
Wepllw 28 =
mu‘ Du_._,-,U_gg
e \@/Q_a:»q
T g =
— >UELLI|—CL'
O3 9z5
OZu.D
.l:mu:u_loclf
ZX| 528853
ND?;EZ
| REEEE
e 2 4
Em@g i
m pl
Y ¥
o= g
20& W
<«
N =
z gl g
®) Ilz 0
Qam =
Dm ow
Q578
ZD—lmu_ Z
gz 5|20
Qﬁm(&) O a
OILL[ %Z
AL EER
o] I w
Qos{yy
QU);E' J0
e B
I_"aaml— o=
~ Blow
DD B D e
BRIBIRIS| (=
g2 2|9 j§55=-—_
Q| |g|8 s gu-EE___'
[=1t=1 Q5Eﬁ=_
a ey ==
Lmalg@l #2183 =
o v | SEBYE ==
S N4 —
3 §E53E
3 olal BE3: =
ElaJaE g =
DUOI—(.sggEE'
g§E§=_
E§§E=—_
g £855 E=
i} %SE&E
= %5#‘5
» = ;z:§=
¥l 8| ki ==
3elgiz| li=
HEHEER =
HEEEEIN N —]
COPYRIGHT FRANK L. BENNARDO P.E.
SCALE: ] --

PAGE DESCRIPTION:

N
[=]
l




g Window (NOA).dwg

-HWD-0002_06b Double-Hun

F:\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Double-Hung Window (NOAJ\04

rbartlett

D.L.O.

7 7/8"

"CHAIN & WEIGHTS” UNITS

NP—1 URETHANE SEALANT @ JOINT

X@ #12x1

FROM

éND

S.S. SCREWS
S AND 8" O.C.

BRASS OR LEAD
COUNTER WEIGHTS

=

09/04/2009 - 10:26am

2 1/4"

BRASS OR LEAD
COUNTER WEIGHTS

=

rf\\_

BRASS OR LEAD
COUNTER WEIGHTS

=

BRASS OR LEAD
COUNTER WEIGHTS

O WINDOW MULL (TOP SASH)

#8x 1 1/4" S.S SCREWS 1/2" MIN.
PENETRATION. 3" FROM END AND 8" 0.C.

D.LO.

=

NP—-1 URETHANE SEALANT & JOINT
(5) #12x14" S.S. SCREWS
AT 3" FROM ENDS AND 8" 0.C.

BRASS OR LEAD
COUNTER WEIGHTS

N

BRASS OR LEAD
COUNTER WEIGHTS

N

BRASS OR LEAD
COUNTER WEIGHTS

-

D.L.O.

21/4

BRASS COR LEAD
CCUNTER WEIGHTS

\/ #8x 1 1/4" S.S SCREWS 1/2" MIN.
PENETRATION. 3" FROM END AND 8" O.C.

WINDOW MULL (BOTTOM SASH)

HALF SCALE

Dévé;é:m

FRANK L. BENNARDO, P.E.
# PE0046549

o
o)
~
-
N
3
(e
-
o)

CERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

0
Z
18
1]
1T}
Z
0
s
Ll

WWW.ENGEXP.COM

DEERFIELD BEACH, FL 33442
PH: (954) 354-0660 Fax: (954) 354-0443

<§ =
N <
o =
< 1]
RQci(Eg
QAB_,og
quu. Eb
= UE0|¢
IXIZ=
Zogm 23
I EIEY
nmkElo=
Cdoa mﬂu.l
T | g
3

11/8/04
6/16/05
05/28/09
08/21/09

DRWN|CHKD | DATE
FLB
FLB
FLB

AML |RKB

TSB

C
CL

REPRODUCED IN WHOLE DR PART WiTHOUT WRITTEN CONSENT OF FRANK L.
BENNARDOQ, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING. OR OTHER MARKINGS

TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE QUR CERTIFICATION.

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDOQ, P.E AND SHALL NOT BE

PAGE DESCRIPTION:

2

= —

U§J —
g wt 8 —
21212/2(z =
E Q " S = E—
w353 =
XiZ& RO —
COPYRIGHT FRANK L. BENNARDO P.E.
04-HWD- 0002
SCALE:

[=}

L)
=T
&)

u




g Window (NOA).dwg

-HWD-0002_06b Double-Hun
.

"SPRING & BALANCE” UNITS

(5) $12x1§"

NP—1 URETHANE SEALANT © JOINT
L S.5. SCREWS
3" FROM ENDS AND 8" O.C.

NYLON SUPPORT FLANGE
BY JOHN EVANS SONS,INC. —]

(SEE DETAIL "B")

SCHLEGEL QEZ—320 SEAL TYP.

D.L.O.

D.LO.

7 7/8" JAMB DEPTH

-
\ [

LINE OF SILL BEYOND K UNIT DIM UNIT DiM

# HPF 970 1/16x 1/

GLASS BEADED IN NORTON NON-FIX
SILICONE SEALANT DOW#935 TYP.

* D/C_AND
” /

— Pe=
SASH OPENING DIM -l SASH OPENING DIM
/ WINDOW JAMB TOP SASH
S.S. CONSTANT FORCE —H 4 HALF SCALE
¥ BALANCE SPRING WITH

#8 x 1 1/4" S.S SCREWS 1/2" MIN. PENETRATION.
3" FROM END AND 8" O.C.

DETAIL 'B’

3/4"

D.L.O.

SCHLEGEL QEZ~320 SEAL TYP.

F:\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Double-Hung Window (NOAM04-

rbartlett

09/04/2009 - 10:26am

SILICONE SEALANT DOW-995

D.L.O.

2 1/4"

2 1/4"

S.S. CONSTANT FORCE
3/4" BALANCE SPRING WITH

#8x 1 1/4" S.S SCREWS 1/2" MIN.
PENETRATION. 3" FROM END AND 8" 0.C.

WINDOW JAMB BOTTOM SASH

NYLON SUPPORT FLANGE 5
BY JOHN EVANS SONS,INC. HALF SCALE

(SEE DETAIL "B")

SASH OPENING DIM

SASH OPENING DIM

LINE OF SILL. BEYOND \ \

z UNIT DIM UNIT DIM

REVISED

S e
wiin g Fiorica

FRANK L. BENNARDO, P.E.
# PE0046549

@ q

]

ol
N

O :‘,

CERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

"ENGINEERING
160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

WWW.ENGEXP.COM

PH: (954) 354-0660 Fax: (954) 354-0443

2 2
2., 8.5
Qo %m
Q’JB_J oy
Z)Jmu_ Z
EHH
cuzl|9e
Z QEB|Z 5
< R83|u5
SEEIEL
Hgh-|o=
o w
3

11/8/04
6/16/05
05/28/09
08/21/09

FLB

ll

DRWN|CHKD | DATE
FLB
FLB

CL
CL
AML |RKB

TSB

I

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.

BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS

TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE QUR CERTIFICATION.

il

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE|

REMARKS
NIT ISSUE
COUNTY COMMENTS

2004 FBC
2007 FBC

COPYRIGHT FRANK L. BENNARDO P.E.

04-HWD-0002

SCALE: 1--

PAGE DESCRIPTION:

EN S0

.




F:\01 Project Files\Hartman Windows & Doors (HWD)\2004 Jobs\04-HWD-0002 Double-Hung Window (NOA)\04-HWD-0002_06b Double-Hung Window (NOA).dwg

rbartlett

09/04/2009 - 10:26am

;%%gg*és%%NNARDVO' P.E.
CONSTRUCTION DETAILS @ fe2 /2 @ fee 1/ » .
STAINLESS STAINLESS STEEL gy e
HEAD STEEL SCREWS SCREWS 09 ] ‘(‘
SOUNNYRNNNNONN, NN NN \‘\\
] { 1 A \ w
/ N g
Bx2 1/2" § Z 83% &
oy
SASH CORNER DETAILS HEAD gf,L,ngss GeeL . g Ti|=53s ¢
u
sdiinnannan RS N N~ Urerhue gl ohE =
. J ] \ u] 5L g Q n J
N / - N SEALANT AT ] ~n Qe
< N N THE JOINT. 2o e
= v Z[]: LoEKzy
) \ Aw—-—-—-—th-—y A OL|<5; 8::
N N so8E6Q
NP—1 UREI'HANE/ § § Z Sa8ucs
SEALANT AT THE JOINT. - w 15 382
N N Lnyz o0
§ JAMB }\\ EE@; @
LA D> n oY un
Bw— N B 4 4 3/4 oy 8
R L <
N WINDOW FRAME 1
e —T, (CHAIN & WEIGTHS) \
P 1:4 SCALE N
] 1/4" §
J N
o T B o R \ 2 :
INTO STILE. EN Z
WITH "NATIONAL CASEIN". WINDOW FRAME N SILL N % O 3 .
(SPRING & BALANCE) N N Rl
1 s § /\ SEQLAN’:’AT Z Ha T Eg
. THE JOINT. nz o=
NP~1 URETHANE N Y } AN N NT g BETIZY
SEALANT AT THE N o L§ 64§ HEE
: N, - N E&®ISS
siL N & f\\\\\\\\\\ZT\\\\\\\\Q\\_\\ Z 33 |y
U’ Lo
N\ N (4) #8x2 1/2"  “—(4) fex2 1/2" § ahird
N AN TN STAINLESS STEEL  STAINLESS STEEL H&R-[35
> - “Q SCREWS SCREWS wlaun
- [ — z J\\ g = 8
\\\\\\\\\\\\\\\\y(\\<¢\ 'g 9
~
4) §8x2 1/2°
Ol e SECTION A—A
SCREWS NP—1 URETHANE
SEALANT AT THE JOINT
. & 15 GAx2" DA
SECTION B-—B 5 1/2 FINISH NALLS 3" FROM SRREE E 1.
ENDS AND 8" 0.C. HEEERE %:%g
= ar53i8] § EEE
\ TENONS TO PROJECT INTO STILE. ENTIRE () f8x2 1/2° [ % €l olo|als| E3es
ol " . STAINLESS STEEL . < 2|51912] kg
JOINT GLUED WITH "NATIONAL CASEIN". STANLE: 3/4 S E Zle|d§, gE £
" 3 mi q%%%
1/4" S 1/8 » | PRODUCT REVISED Elalzl2|Z], 24
R 2s complyipa with the Florida EEEE
w 'Nl * ~ e . 2535
> < I ~ 13 e| [Bzis
I o TTTUYYC DIl e
} °l . 13/16" " 5| BiS
® s £ 8algl) g
13/16" » e HEE S
. e Division bsglslg) =
——— COPYRIGHT FRANK L. BENNARDO P.E.
04-HWD-000
(4) #8x2 1/2" \ 4 3/4" / \-(4) #8x2 1/2" 0 .?
STAINLESS STEEL STAINLESS STEEL  SCALE: 1
SCREWS SCREWS PAGE DESCRIPTION:
NP—1 URETHANE SEALANT AT :
THE JOINT & 15 GA.x2" DA o
FINISH NAILS 3" FROM ENDS 10
AND B” O.C. @




™\

FRANK L. BENNARDO, P.

# PEOD46549

NOLLVAONNI "ONI “3'd ‘OCYNNIE 1 INVYd v ul ey = )
s i 40 1029 INYISIST LovaWl SUSSIN FoU] T ORE ORI £ 4 |2
z OU ) & xm w Z m ) 2/2/ >> “NOLLYDLHIL43D HNO ALVAITVAN! NV 03LLINHId LON 34V LNSWNJOA STHL OL M 0 m 9
. R MOANIM SNNH 319Nn0a SONDRIYA 43HLO N0 ‘ONLHETTHSIH ‘SNoLLaaY ‘SnoiviaLw 34 oownze | = | () o
EVPOHSE (hS6) X3 0990-pSE (+56) :Hd - T s 1] Bl 1=
ZHPPEE 14 'HOv3Id d131d4¥33a SOPEE 14 "'HOVIL WIVd 1S3IM - - - -1 () o
90T# ‘ANNIAAVY UIZT MS 09T dA1gd NYIHLNOS TES 60/12/80 M| WY SINJWNOD ALNNOD| £ W g
&> ITT amﬁooa 29 60/82/50| d14] 8s1 R [ i
0 SSIHAXT oL ;_//m corske | a3 10 284 7002 W e o
mz_mmmz_mzm Y [Z SXOANIN\ NVINLIVH vorgnL | @14 10 3NSS! LINI £ ol 9 m
S 31va | aMHO|NMHaA svnaa|3] O [@lal oM

e _

Division

T
c
|
[ -1
L

14"
- l_ i%"

GLAZING BEADS, STOPS AND MISCELLANEOUS
o0
]
vl
j
L ] |
|—171”—|
4in
3én
JAMB PARTS
(FOR "CHAIN &
WEIGHTS” UNITS)
T
—
Qn

h7) _
mo e — : B
=z 5 e B IRE:
=5° Tl L=y
A @ ] £ | ot
<"z £
e T N &
gs | |- ] * .l ,
m ) o x0 Ll _ L “ o &
Jft i . ._._“ 11
“_=_| * \_Hlvﬁs H 150 ﬂ f_ £ s
e — ®
a || &
LR . ulﬂf,n . :
“ o — e “
: .- : . _
| —: ]
¢ i \
= < = e
S m < =
|t i = 5
. m
&£
nﬁ L
«E
@ I @
1 s
! s | -
& ) %4 _ ul e &
n e A = U
| 1 | | | L |
I e . - e
Fe N ° VY WoLLo8 ..¢|||_
~ — & .
| _|..um:J

R4

—
Bmp (YON) Mopuip BunH-8ianoq 490" ¢000-AMH-YONWON) MOPUIM Buni-3|gnod 2000-aMH-F0\SGOr #00ZW(JMH) S100Q B SMOPUIA UBWHEH\SS|IS 198l01d | Ovi3 HolHeq!  wegei0l - 600Z/40/60



